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Answer Question No. 1 which is compulsory and any five from the rest.

The figures in the right-hand margin indicate marks.

1. Answer the following questions : 210

Write the advantages of Kernel-level thread over user-level thread.
Explain why the race condition arises ?

Differentiate between deadlock and starvation.

Write the uses of Resource Allocation Graph (RAG) in deadlock.
What is pre-paging ?

Differentiate between internal and external fragmentation.

Explain Belady’s anomaly.

What is the role of monitor in Synchronization Mechanism ?

Differentiate between binary semaphore and counting semaphore.

What do you mean by i-node ?

What do you mean by process ? Draw the process state diagram. Explain
the structure of process control block with information it contains. 6

Differentiate between procéss switching and context switching. 4
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3. (a) Whatarethe bésic criteria to be considered for processor scheduling ? 3

(b) Consider the following set of processes with priority and CPU burst time in

milliseconds : ' 7
Process CPU burst time Priority
P, 10 3
P 4 1
P, 5 3
P; 3 4
P, 6 2

The processes are assumed to have arrived in order P, P, P, P, P, allat
time zero. What is the waiting and turn- around time of each scheduling
algorithm, FCFS, SJF and RR( quantum = 2).

4. (a) Whatis Deadlock ? If deadlock detection algorithm indicates the existence

of deadlock in system then how to recovery from deadlock. 5

(b) What is meant by thrashing ? Explain the causes of thrashing. How to

recovery from thrashing ? 5

5. (a) Define critical section and semaphore ? How critical section problem is

implemented using semaphore ? 5

(b) Consider the following sequence of memory references 0, 1,4, 0, 3, 4,0,
0, 1, 1, 3, 4,3. Find the page fault rate for this reference string having 3

frames using LRU page replacement algorithm. 5
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6. (a) Considerthe following segmenttable :

Segment Base Length
S, 219 600

S, 2300 14

S, 0 100

S, 1327 580

s, 1952 %

What are the physical addresses for the following logical addresses ?

(i) 0,430
(i) 2,500,
(iii) 4,120

(b) Explain concept of multilevel paging with example.

4

7. (a) Define the structure of a regular file in UNIX. Draw the necessary block

- diagrams.

5

(b) Explain how linked allocation solves problems of contiguous allocation while

2N

8. Write short notes on any two :

(a) SCAN scheduling

allocating space to file in disk space.

(b) Multlevel Queue Scheduling

(c) Inverted page table.
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